ngel 17038 (,- W filter)
‘UTC 2024-02-05 05:09:16.88
-Mean-95633
o=11614
‘Exposure Time =0.05 s
*Hrgh Gain
u,mm ='mean -0.125 0 = 94.181
max =mean +0.75 ¢ = 98.536
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Rigel 17538 (, W filter)

UTC 2024-02-05 05:20:48.89
Mean = 95.462

o= 19.686

Exposure Time =0.05 s

High Gain

min = mean - 0.125 o = 93.001
max = mean + 0.75 o = 100.383
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Rigel 18038 (, W filter)

UTC 2024-02-05 05:23:01.33
Mean = 95.517

o=21.936

Exposure Time =0.05 s

High Gain

min = mean - 0.125 g = 92.775
max = mean + 0.75 o = 101.001
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Rigel 18538 (, W filter)

UTC 2024-02-05 05:26:14.19
Mean = 95.482

o =20.750

Exposure Time =0.05 s

High Gain

min = mean - 0.125 g = 92.888
max = mean + 0.75 o0 = 100.669
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Rigel 19038 (, W filter)

UTC 2024-02-05 05:28:57.88
Mean = 95.581

0 = 24.334

Exposure Time =0.05 s

High Gain

min = mean - 0.125 o = 92.539
max = mean + 0.75 o0 = 101.664
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Rigel ' 19538 (, W filter)

UTC 2024-02-05 05:31:30.55
Mean = 95.520

o= 20.110

Exposure Time =0.05 s

High Gain

min = mean - 0.125 o = 93.006
max = mean + 0.75 o0 = 100.548
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Rigel 20038 (, W filter)

UTC 2024-02-05 05:34:41.60
Mean = 95.529

0=17.188

Exposure Time =0.05 s

“High Gain

min = mean - 0.125 g = 93.38
‘Max = mean + 0.75 0 = 99.826
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Rigel 20538 (, W filter)

UTC 2024-02-05 05:36:34.92
.Meanh = 95.532

o= 15.379

Exposure Time =0.05 s

‘High Gain
“min .= mean-0.125 0 =93.61
‘Mmax = mean + 0.75 0 = 99.377

500 1500 2000 2500 3000 3500




Rigel 21038 (, W filter)

UTC 2024-02-05 05:38:47.94
:Mean = 95.591

0= 15.760

Exposure Time =0.05 s

High Gain

“min.= mean - 0.125 0 = 93.621
“max = mean + 0.75 0 = 99.531

500 1500 2000 2500 3000 3500




+“Rigel: 21538 (, W filter)

UTC 2024-02-0505:41:02.67
Mean = 95.555

o =14.220

‘Exposure Time =0.05 s

‘High Gain
“min.= mean - 0,125 ¢ = 93.777
‘Mmax = mean + 0.75 0 = 99.11
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Rigel-22038 (, W filter)

UTC 2024-02-05 05:43:02.54
Mean = 95.621
0=14.063

Exposure Time =0.05 s
“High Gain

‘min.= mean - 0.125 g = 93.863
fmax = mean +0.75 0 = 99.137
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~Rigel. 22538 (, W filter)

UTC 2024-02-05 05:44:54.49
-Mean = 95.562

"0=12.487

‘Exposure Time =0.05 s

“High Gain

“min = mean - 0.125 0 = 94.001
Smax = mean + 0.75:0 = 98.684

500 1500 2000 2500 3000 3500




~Rigel. 23038 (, W filter)

“UTC 12024-02-05 05:46:27.55
Mean'= 95,622

0=12.821

_Exposure Time =0.05 s

“High Gain

fmin = mean -0.125 ¢ = 94.019
“max = mean + 0.75 o = 98.827

500 1000 1500 3000 3500




‘Rigel 23538 (, W filter)

UTC 2024-02-05 05:48:21.76
“Mean = 95.602

0 =12.077

;E%(,po_sure Time =0.05 s

‘High Gain

Smin.= mean-0.125 o0 = 94.092
Zmax = mean + 0.75 0 = 98.621

500 1000 1500 2000 2500 3000 3500




‘Rigel 24038 (, W filter)
UTC 2024-02-05 05:50:22.33

“Exposure Time =0.05 s

“High Gain

“min = mean - 0.125 0 = 94.125
“max = mean + 0.75 0 = 98.647
§ii

!

500 1000

1500 2500 3000

2000

3500 4000



~Rigel 16538 (, W filter)

“UTC 2024-02-05 05:53:06.89
:Mean ='95.633

0 =11.614

‘Exposure Time =0.05 s

«High Gain

TMini= mean - 0.125.0 = 94.181
“max = mean + 0.75 0 = 98.536

&
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Rigel 16038 (, W filter)

UTC 2024-02-05 05:54:30.20
Mean = 95.543

o =19.456

Exposure Time =0.05 s

High Gain

min = mean-0.125 0 = 93.11
max = mean + 0.75 0 = 100.407
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Rigel 15538 (, W filter)

UTC 2024-02-05 05:55:42.28
Mean =95.419

0=716.118

Exposure Time =0.05 s

‘High Gain
“min = mean - 0.125 0= 93.404
“max = mean + 0.75 0 = 99.449
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Rigel- 15038 (, W filter)

UTC 2024-02-05 05:57:00.40
:Mean =95.496

o=16.868

Exposure Time =0.05 s

High Gain

‘min'= mean - 0.125 0 = 93.388
max = mean + 0.75 o = 99.713

Tn
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Rigel 14538fts (, W filter)

UTC 2024-02-05 05:58:55.59
“Mean = 95.388

‘0=14.295

-Exposure Time =0.05 s
“High Gain

S“min:= mean - 0.125 0 = 93.601
“max = mean + 0.75 0 = 98.962

1000 1500 2000 2500 3000 3500 4000




Rigel 14038 (, W filter)

“UTC 2024-02-05 06:00:33.63
Mean=95.410

o=14.146

‘Exposure Time =0.05 s

‘High Gain

“min= mean -0.125 0 = 93.642
“max = mean + 0.75 0 = 98.947

500 1000 1500 2000 2500 3000 3500 4000




«=Rigel- 13538 (, W filter)

UTC 2024-02-05 06:02:15.44
-Mean = 95.348

-a= 12.626

Exposure Time =0.05s

High Gain
“min.=-mean - 0.125-0 = 93.77
smax = mean + 0.75 g = 98.505
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m'—'mean 0:125 0=
1ax = mean + 0750

1000 1500 2000 2500 3000 3500




nRigeI 1-2538 (- W-filter)

WTFC 2024-02-05- 06:04:46.56
Mean = 95.365

o=11. 943

E)gposure Time =0.05 s
-aH-igh Gain
Bmin = mean - 0.125 0 = 93.872
“Max = mean + 0.75 0 =98.351

1000 1500 2000 2500 3000




LEXPO

High Gain
s,:m‘ln = mean - 0.125 0 = 93.876
_:,r_"_mgx = mean + 0.75 0 = 98.195
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G W filter)

2024-02-05 06:07:39.88

500

1000

‘= mean - 01250 = 93.972
-=mean +:0.75.g = 97.76
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500

Xposure Time =0.05 s
High Gain
ini=mean - 0.125 0 =93.934
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3500

4000
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(W filter)
05 06:10:22.94

10.589
yosure-Time =0.05 s
h.Gain
mean - 0:125.0 = 93.952
“mean +0.750'= 97.923

500 1000 1500

2000

2500

3000

3500

4000



500

1000

1500

2000

2500

3000

3500

4000

500

1000

1500

2000

2500

3000

3500

4000



=] oy

HE70178 1, W filter)
UTC-2024-02-0507:14:38.06
‘Mean = 95,191

9=8952 - _
“Exposure Time =10.0 s
“High Gain _

min =-mean = 0.125 0 = 94.072
Mmax = mean + 0.75 0 = 97.429
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